SERNARRER (EE)

BRSO (B EmEs0 ([FFEt 3 EEEEBEESANSD
XSS FHMEBRCSHEENDHEE. MPEERLEY
FEN>> 3> 101~1501% / 1614F

mHES WEER SHHE PRTELH

sl #%RE filit& FRigithish B B PRTERS |Fa'im
No. |ESIIRIR =R PP EE{if JRRRER prat]

4R

100122196584 b3 71.84M |EREH=[EM# 6 TH

5E 4,8905H —th 68 THA|ARESHIHEHILT 71— |28 |3 LDK
101 |2FH 8,600/ 225 1THM|RELE A =5 353/ 189

@’ 20035 (FER155) 108

400119751997 hHEY> 3> 5245 |RFEI=[Eh FEE4TH

TRA=T =TT 4,90055M - 93.55M|U_ 7= A 1LDK

P
10217 11,500/ 3089 M[RRTHRE =& ®E 9

19874F (BB624E) 28

100119727232 hEv>>3> 5245 |ERRE=EH FEE4TH

TRA-TFT 4,9005M (ZES 9355M|U_ 7=)E= 4B 1LDK

P
103 1 11,5009 30895M|FxiE =@ ®5 89

19914F (8% 3¢F) 18

100120365565 > 3> 52.45M|RRE =B EZ4 TH

TRA=T=FT 4,90055M - 9355M|U 7= 2B 1LDK

P
104 11,500/ 30895/ |hkiE = w5 8

19914F (PR% 346) 18

100121612842 PhEY> 3> 70.53M |ERE=EM#HI 4 TH

5t 4,98073M —1K 70.7AM|0—LJL3— M) 20 3LDK
105 |AFH 12,400 2335 F|RERR A &= 19D

20074 (ER194E) 118

100121960186 P> 75.22nm |ERREH=EmZziL6 TH

S 4,980 M #T 66.35RM|/\— 037« 21LmE 6B [3LDK
106 |2FH 12,000 2189 M |HhouR HHEF 2% 29 /){R 169>

=] 19985 (Frk105) 3H

100121811992 Y>3 80.82M |ERE=Em#I 1 TH

5T 5,08055 8 —th 629RA|1FA 3[E 3LDK
107 |2FH 15,760 207.8 M| RERR I &= 209

20144F (FRi265) 58

100122200606 P> I 93.93m |FRREH=IEm# 6 TH

xE 5,1805M #T 55.2BA|HOBEARS—FT =7 30 [4LDK
108 |- 19,730 182473 |FRRAER  HREF &5 353/)\X 109

(=) A 19814F (RBANS64E) 95

100121727533 hHEY> 23> 64.62mM |RRE=EH T:EE 4 TH

FE 5,18075M - 802K M|RE=ZEY>>a> 6 2SLDK
109 |- 12,900 265.0RM[HEPRE =& 5 99

19724E (BBAN474E) 38

100121710207 =SS 68.11M |ERRE=[E FEE 4 TH

B54F 5,180 8 [EES 76.THA|B&E=E<Y>>3> o 3LDK
110 |2 13,6003 251.5F|PIER =& = 99

=] 197248 (BBF1474) 38
111 [100122235608 PHEY> 23> 62.97M |RRE=EmAtL6 TH

xx 5,198%5M #£T 826RR|/) (=0T« &4l 8 [2LDK

- 12,0009 2729 F|HHRER SHHESF B 253 //)\X 1453




nEEs WEE SHmE PRTEME
B3I it P& sk it B4 PRTERS [
No. |ERSI4RiR S b2 T SEHRER 32
F£ER
19984 (FR104) 38
100122256833 hHY> 3> 65.92nm |ERRE =B FEE 7 TH
5T 5,27075H —fE 80.0RM|NAFvwvRIL=FE?2 AR 2SLDK
112 [EHIABD 17,1504 2643 |PIER =& = 169>
& 19984 (FRk105) 5H
100122363491 TS 91.72M |EREH=Em# 6 TH
—# 5,4805M —rp 59.8BA|L RIS 3> ZEORK 2B [4aLDK
113 |- 11,7008 1976778 |hRIE HHEFT B 293/)\X 259>
2002¢F (FRi144F) 78
100122002383 REY>Iay 42.88m|RFEH=EH LEE 1 TH
HE 5,48055F3 (G 127,855 2) VPI-NERAT=232N\D | 1LDK
114 1 xpgen 7,630 22255 hReg =5 w5 35
20204E (71 24F) 78
100121399912 hHEY>Sa> 91.72m|RR#=IEDF)I 6 TH
—A 5,48075F9 —h 59.85HM|LIEILY> S 3 > =BORK 2B [4LDK
115 |- 11,700 197.6 M |HhHR HEF B 19/ 259
=] 20026F (ERy14%E) 78
100122323134 Y>> 3> 77.07M |ERRE=EHHII1TH
B5F 5,58073 M — 72.5R|AFA 7B 2SLDK
116 |ARAch 15,030/ 2394 M|REHE A &% 209
20144 (ERk26%E) 5A
100121159279 hEv> T3> 75.02n |RRE = EH FEE 8 TH
BT 5,58055M HET 7445 Z'Wj\/T:JE{_X RE g P 3LDK
7 e 13,100/ 24595 | hRIg. ERES B 29/\X 155
20134F (FR254E) 68
100122223978 Y>3y 68.54M |RFH=IEH LEL 8 TH
= 5,59075M - 81.6HRM|EF—IHY> ST =& 6h [3LDK
118 |- 15,4209 269.7h A [EPRiR =& B 29/)(RX 65
2000 (PRE126E) 118
100121360781 ST 61.83M|ERRA=IEM FEZL 3 TH
B5F 5,68055 M8 [EES 91.95 M| AREZ[EHhILED 3[E 2LDK
119 |HIAHD 12,2009 303. 75 |HRE =B #5597
19974 (SERL 9%F) 68
100122012815 hEY>Ta Yy 72.20M|[RRH=EHEIL6 TH
ST 568075 —th 787BA|A—NILI ST 4 ATHF | 2B [3LDK
120 |2FEH 10,700 260. 1AM |FoR HEF B 153/)\X 145>
(=) [FA] 20144F (FRL26%E) 1H
100121880665 ST 53.23m|EEREP=Em FEL3TH
5T 5,68073 M [GES 106.8KA|JO0—UA=E 120 1LDK
121 |AFH 9,690 3528 |TRE =B #5359
20054 (ER174) 28
100121315503 hEY>TaYy 57.52mM|RFH=EHR T EL3TH
HiE 5,78075F3 RS 1005757 A>T AR LASRRRIL = 4 2LDK
F)ILd—b
122 I Spam 16,000/ 33225y =% = 15
20064 (ERK18E) 28
123 (100121823761 Y>3y 62.59M|RRH=EH T:EL 2 TH
s 5,78075M | —{& 24BNV —)L=E |2ms 3LDK




meEs WEFER SHmE PRTEME

B3I it P& sk it B4 PRTERS [
No. |ERSI4RiR S PPES (i SERRER 32

FER

- 10,470F] 30535 M| hshig = 169

2003 (FR15%E) 88

100121100567 S 64.21M|RRE=EHm TEL 6 TH

e 5,9805M — 932PAlE>FIU—=ES - SH—L 2B [3LDK
124 | 2B 16,790 307.9HM|hRIE =E 2 393/ 1D

20214F ($5%13%) 128

100122140038 hHv> 23> 87.94n |RRH =B FEE 4 TH

55E 5,98073 M —F 68.ThABE=E<Y>>3> oF& 2SLDK
125 |- 17,600 224 8RR |hiR =& s 109

19724F (BBAI474E) 38

100121093526 REY>Iay 75.52m|RRE=EHEL 6 TH

s 5,9805M #T 7925~ 5« #4LE 6B [3LDK
126 |- 12,0009 261.8 M |HhRER SHEF B 293/)\X 145

19984 (FH104) 38

100121911584 hEIY>Iay 76.00M |[ERRE=EHAIL6 TH

ST 5,98075F —h 787RA|A— LIS T 4 AEHES 2 10 [3LDK
127 |AFH 11,800 2602 M|choug HES 2 293/)\R 129

20164 (Frk284E) 18

100121175725 REY>Iay 74.35mM |RRE=EHTEEL3TH

5T 5,98073M [GES 80.5RA|7—IL I —)L=[EHILED ol 3LDK
128 |2 21,010 2659 M |FRIE =& & 49

19964 (A% 84F) 108

100122170934 P> I 61.92nm |ERRE =B FEL 3 TH

5T 6,080731 plas] 982HBA|I\LRFT—ZE 30 3LDK
129 |AFH 12,0009 324.6HM|HREPIUE =& = 11D

[E) 20144 (FH266E) 28

100121499795 REY>Iay 73.81M|RRH=ETH T:EL8TH

e 6,280759 T 85.15M Z'\gj\f’:’gglz NECEant 3LDK
130 12,900 281350 | iy =% B 39/\X_ 119

2013 (FR25%E) 68

100122068192 hEv>S 3> 76.20M |RRE=[EH FEL 8 TH

FE 6,29075F3 - 82.6 5| A WE#SE 6B [3LDK
131 |- 14,400 2729 MM IUR EHFF B 453/ 209

19984E (FHL10%E) 28

300121915643 hHEY> I 54.97M|RRE=EH TEZL4TH

— % 6,30075 M - 114758 L= X =B 10B% 2LDK
132 |- 17,600 37891 H|hRiE =FE 5 99

20196 (S0 14) 85

100122238933 hEY>S 3> 54.60M | REB=EH TEZL3TH

5T 6,480751 [ZES 118.7PhH|AZ> 7 =& 30 2LDK
133 |FH 25,800/ 39247 F|FIHR =B & 59

=] 20214 (S35 18

200122035605 b2 I 61.83mM | RE=EM &L 3TH

5T 6,48055 M [ZES 104.95A| X E=EHiED AR 2LDK
134 |2FH 12,2004 346,55 |HHR =& &5 59

19974 (8% 9%F) 68
135 |100122050373 = P 64.99M |RREP =[BT FEL 3 TH




meEs WEFER SHEE PRTELHH
B3I it P& sk it B4 PRTERS [
No. |ERSI4RiR =Ry PPES (i SERRER 32
FER
5 6,48055 M - 99.855H 2LDK
BiAd D 16,0004 329.75HM
100120687257 hHv>2 3> 75.06M |RRE=E LEE 8 TH
S 6,4905M —f 86.5RA|STA/\—U=BE /T« vIIT |18 [3LDK
136 |2FH 14,3301 2859 M |HRIRE =& B 193/)\X 8%
20054 (ER174) 18
100122333184 ST Y 60.01M |SREP =& LiE#E 4 TH
Fox 6,590 M [EES 109.9FR|SA A>T+« =& 108 2LDK
137 |- 15,200 363 1HH|hREE =E €5 89
19984F (FRE104) 38
100121604340 hHEY>Ia> 79.98mM|RRH=EM TEE3ITH
5B 6,60073M [GES 82.6AM| AR E=EhiiED 128 3LDK
138 |ERIASD 15,800 272.8 MR =& & 59
19975 (Fpk 9%F) 6AH
100122180471 hEY>Iay 81.80m | RE=EME1L6 TH
HE 6,68055M #T 81.7RRA (=0T« &1l 1H [3LDK
139 |AFH 12,0009 270.0R M |HhREE SHHF B 253/)\R 165
19984 (FAR104E) 38
100122351459 hHEY>> Iy 64.49M |RRE=—EH TEE 7 TH
=1 6,78055M —f 105,275 7_3 ;Z PLITIASRE AT e 3LDK
140 N 10,200 3476 |HFRIE =& = 17D
20195 (ER314E) 2H
100120630409 hHY>S 3> 84.82n |RRE =B T EL 7 TH
5T 6,98073 8 —F 823/ —OLIJ=E 5FE 3LDK
141 |2 16,400 272 THH|FREE =& &= 17D
=] 20054 (PRI7E) 98
100122093106 hHEY> 3> 70.66M | RE=EH TEE5TH
5T 6,98075H —fE 98.8B| TS RS T4 E5HF 20 2LDK
142 |AFH 18,5003 326.6HM|HOBER =HF & 249
20204 (571 24) 18
100122283698 > 3> 69.95M |RRE =B T EL 3 TH
5T 6,98073M [GES 99.8FM|IET7 L —1=E o 2LDK
143 |2FEH 14,4108 329.9K M |HMEAPIHR =& & 59
=] 20004 (FRKk124E) 38
100122256835 hHEY> 3> 77.13mM |RRE=EH TEEL 8 TH
HE 6,9805M #T 90.5BM|A—~NL=E i@ 7h [3LDK
144 |AFH 15,700 2992 M|hRIE =& 2% 293/ R 179
[=] 20014 (ERR134) 58
100122163570 T3> 72.92n |RRE =B TEE S TH
FE 6,99075M - 95.95M|+A A RE#T 30 [3LDK
145 |- 10,9004 316. 9| EARIR FHF B 293/)\X 8%
20054 (ER174) 18
100121584256 hHEY> 3> 68.59M | REI =B TE#E5TH
B 7.1805M —f 1047559 RS T 1 S 15 [3LDK
146 |BIABD 17,900 346. 1THM|PIURE HEF 2% 19/ X 129
=IE 20204 (571 24F) 18
147 (100122262137 hEv>S 3> 58.49M | RE=EH TEZL3TH




meEs mEFER SHmEE PRTEHH

BR5 KR8 filit it s Bus PRTERE |raER
No. |ESIIRIR =Ry b2 - Tiii] JRIRER 32l

R

SEA-T—FT 7,28055F (S 1245BRIL—> 7 HI—=[E 7S 2LDK

P

Nl 18,720 4115 MR =& T 19

20194 (FHE314E) 18

100121486333 hEv>S 3> 70.66M |ERRE =[BT FEL S5 TH

B 7,2805M —f 103.15M|T 5 RS 7« EHS 6l [3LDK
148 | 2FAHR 18,5009 340.6 M |HhRER SHEF =5 193/\X 129

20204 (4570 24F) 15

100121983432 hEY>Ia Yy 72.52mM|RRE=EH LEE 1 TH

5T 7,3805H —h 101.8 K|V =E7H 71— 5P 3LDK
149 | AR 15,300 336.5RMF|FHR =& &= 109

@ 20005 (ERk12%E) 108

100119671852 P> 3> 79.90M |RRE=EH T EE 3 TH

5T 7,4805 M [GES 93.7hA|5>a L =& 118 3LDK
150 B 21,500 3095 |FRIE =& T 65

[1909% (FR11%) 67

XA : AFR HiIASD  BEHECKIDBARIAASHD —HEL  TEHS T—EHENELS
CEEOHBGIEHFNBBEMA. BELUIDOBAE -] RERBDEY)



